[ Efficiency vs vertpos |

~0.05
9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.04
0.005

ry

0
1

””l"”'ﬁ""'”l”'”'|””|”'?P'”|'”'|””'””'””'””'””

9 = = SRR TR EEE S 5 L & SEEEE E CEEE B S EEE R
T
SSCX:): 1 O O S Y 1 - R
Jo)F:] =38 N R NN ) O AR R )
0.7 . n H ,
10° 10° 1 10 0
TP vertr (cr%)

—=— DQM_mKFit_TT_base

Effici —e— DQM_mKFit_TT_retrain
ICIeNd __,__ DQM_mkFit_TT_retrain_noCandDNN

~ 0.02p
g 018F
016F
014F
012F
0.01F
0.008F

EHHCIRRCY S 8T

0.006
0.004
0.002
0

1]

Ratio

0.9

0.8l

1 20 30
TP vert z (cm)

[Effici

ency vs.sim PV z |

~ 0.05
>
80.045
=
=0.04
%.035
ey
20.03
@
8.025

©
0.02
0.015

0.0

0.005

Ratio

50 =15 =10 -5 0

+

Sim. PV z (cm)



	Contents
	Page 1


